JOURNAL OF THE CHUNGCHEONG MATHEMATICAL SOCIETY Volume **26**, No. 1, 2013

CERTAIN RESULTS ON THE q-GENOCCHI NUMBERS AND POLYNOMIALS

Jong Jin Seo*

ABSTRACT. In this work, we deal with q-Genocchi numbers and polynomials. We derive not only new but also interesting properties of the q-Genocchi numbers and polynomials. Also, we give Cauchy-type integral formula of the q-Genocchi polynomials and derive distribution formula for the q-Genocchi polynomials. In the final part, we introduce a definition of q-Zeta-type function which is interpolation function of the q-Genocchi polynomials at negative integers which we express in the present paper.

1. Preliminaries

Let p be a fixed odd prime number. Now, we need the definitions of the some notations for this work such that let \mathbb{Q}_p be the field p-adic rational numbers and let \mathbb{C}_p be the completion of algebraic closure of \mathbb{Q}_p . That is,

$$\mathbb{Q}_p = \left\{ x = \sum_{n=-k}^{\infty} a_n p^n : 0 \le a_n \le p - 1 \right\}.$$

Then \mathbb{Z}_p is integral domain which is defined by

$$\mathbb{Z}_p = \left\{ x = \sum_{n=0}^{\infty} a_n p^n : 0 \le a_n \le p - 1 \right\}$$
$$\mathbb{Z}_p = \left\{ x \in \mathbb{Q}_p : |x|_p \le 1 \right\}.$$

or

Received December 14, 2012; Accepted January 11, 2013.

²⁰¹⁰ Mathematics Subject Classification: Primary 05A10, 11B65; Secondary 11B68, 11B73.

Key words and phrases: Genocchi numbers and polynomials, q-Genocchi numbers and polynomials with weight 0, p-adic q-integral on \mathbb{Z}_p .

We assume that $q \in \mathbb{C}_p$ with $|1 - q|_p < 1$ as an indeterminate. The *p*-adic absolute value $|.|_p$, is normally given by

$$|x|_{p} = p^{-r}$$

where $x = p^r \frac{s}{t}$ with (p, s) = (p, t) = (s, t) = 1 and $r \in \mathbb{Q}$.

The q-extension of x with the display notation of $[x]_q$ is introduced by

$$[x]_q = \frac{1 - q^x}{1 - q}.$$

We note that $\lim_{q\to 1} [x]_q = x$ (see[1-22]).

Also, we use notation \mathbb{N}^* which means the combinations of zero and Natural numbers.

We consider that η is a uniformly differentiable function at a point $a \in \mathbb{Z}_p$, if the difference quotient

$$\Phi_{\eta}\left(x,y\right) = \frac{\eta\left(x\right) - \eta\left(y\right)}{x - y},$$

have a limit $\eta'(a)$ as $(x, y) \to (a, a)$ and denote this by $\eta \in UD(\mathbb{Z}_p)$. Then, for $\eta \in UD(\mathbb{Z}_p)$, we can discuss the following

$$\frac{1}{[p^n]_q} \sum_{0 \le \xi < p^n} \eta\left(\xi\right) q^{\xi} = \sum_{0 \le \xi < p^n} \eta\left(\xi\right) \mu_q\left(\xi + p^n \mathbb{Z}_p\right),$$

which represents as a *p*-adic *q*-analogue of Riemann sums for η . The integral of η on \mathbb{Z}_p will be defined as the limit $(n \to \infty)$ of these sums, when it exists. The *p*-adic *q*-integral of function $\eta \in UD(\mathbb{Z}_p)$ is defined by T. Kim in [7], [11], [16] by

(1.1)
$$I_{q}(\eta) = \int_{\mathbb{Z}_{p}} \eta(\xi) \, d\mu_{q}(\xi) = \lim_{n \to \infty} \frac{1}{[p^{n}]_{q}} \sum_{\xi=0}^{p^{n}-1} \eta(\xi) \, q^{\xi}.$$

The bosonic integral is considered as a bosonic limit $q \to 1$, $I_1(\eta) = \lim_{q \to 1} I_q(\eta)$. Similarly, the fermionic *p*-adic integral on \mathbb{Z}_p is introduced by T. Kim as follows:

(1.2)
$$I_{-q}(\eta) = \int_{\mathbb{Z}_p} \eta(\xi) \, d\mu_{-q}(\xi)$$

(for more details, see [16-18]). From (1.2), it is well-known equality

(1.3)
$$qI_{-q}(\eta_1) + I_{-q}(\eta) = [2]_q \eta(0),$$

where $\eta_1(x) = \eta(x+1)$ (for details, see[2-4, 11-14, 16-22]).

233

The q-Genocchi polynomials with we gibt 0 are given by Araci et al., as follows:

(1.4)
$$\frac{G_{n+1,q}(x)}{n+1} = \int_{\mathbb{Z}_p} (x+\xi)^n \, d\mu_{-q}(\xi) \, d\mu_{-$$

From (1.4), we have

$$\widetilde{G}_{n,q}\left(x\right) = \sum_{l=0}^{n} \binom{n}{l} x^{l} \widetilde{G}_{n-l,q}$$

where $\widetilde{G}_{n,q}(0) := \widetilde{G}_{n,q}$ are called *q*-Genocchi numbers with weight 0. Then, *q*-Genocchi numbers are defined as

$$\widetilde{G}_{0,q} = 0 \text{ and } q \left(\widetilde{G}_q + 1 \right)^n + \widetilde{G}_{n,q} = \begin{cases} [2]_q, & \text{if } n = 1 \\ 0, & \text{if } n \neq 1, \end{cases}$$

with the usual convention about replacing $\left(\widetilde{G}_q\right)^n$ by $\widetilde{G}_{n,q}$ is used (for details, see [4]).

In [8], Kim and Lee derived some properties for the q-Euler numbers and polynomials. In [4], Araci also studied not only new but also interesting properties of the q-Genocchi numbers and polynomials with weight 0. Actually, Genocchi numbers and polynomials, Euler numbers and polynomials and their q-extensions have been studied in several different ways for a long time (for details, see [1-21]). Our aim in this paper is to present some new interesting properties of the q-Genocchi numbers and polynomials. Our applications for the q-Genocchi polynomials will seem to be useful in mathematics for engineerings.

2. Some poperties of q-Genocchi numbers and polynomials with weight 0

Let $\eta(x) = e^{t(x+\xi)}$. Then, by using (1.3), we see that

$$t \int_{\mathbb{Z}_p} e^{t(x+\xi)} d\mu_{-q}(\xi) = \frac{[2]_q t}{qe^t + 1} e^{xt}.$$

From the last equality and (1.4), we get Araci, Acikgoz and Qi's q-Genocchi polynomials with weight 0 in [3] as follows:

(2.1)
$$t \int_{\mathbb{Z}_p} e^{t(x+\xi)} d\mu_{-q}(\xi) = \sum_{n=0}^{\infty} \widetilde{G}_{n,q}(x) \frac{t^n}{n!} = \frac{[2]_q t}{qe^t + 1} e^{xt}, \ |\log q + t| < \pi.$$

Substituting $x \to x + y$ into (2.1), then we can write

$$\sum_{n=0}^{\infty} \widetilde{G}_{n,q} \left(x+y\right) \frac{t^n}{n!} = \frac{[2]_q t}{q e^t + 1} e^{(x+y)t}$$
$$= \left(\sum_{n=0}^{\infty} \widetilde{G}_{n,q} \left(x\right) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} y^n \frac{t^n}{n!}\right)$$
$$= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k} \widetilde{G}_{k,q} \left(x\right) y^{n-k}\right) \frac{t^n}{n!}$$

From the above applications, we can easily express the following theorem:

THEOREM 2.1. The following holds:

(2.2)
$$\widetilde{G}_{n,q}\left(x+y\right) = \sum_{k=0}^{n} \binom{n}{k} \widetilde{G}_{k,q}\left(x\right) y^{n-k}.$$

By (2.2), we consider the following

$$\widetilde{G}_{n,q}\left(x+y\right) = ny^{n-1} + \sum_{k=2}^{n} \binom{n}{k} \widetilde{G}_{k,q}\left(x\right) y^{n-k}.$$

From this, it follows that

$$\widetilde{G}_{n,q}\left(x+y\right) - ny^{n-1} = \sum_{k=2}^{n} \binom{n}{k} \widetilde{G}_{k,q}\left(x\right) y^{n-k}$$

can be derived and so we reach the following theorem:

THEOREM 2.2. For $n \in \mathbb{N}^*$, one has

(2.3)
$$\sum_{k=0}^{n} \frac{\binom{n}{k}}{(k+2)(k+1)} \widetilde{G}_{k+2,q}(x) y^{n-k} = \frac{\widetilde{G}_{n+2,q}(x+y) - (n+2) y^{n+1}}{(n+2)(n+1)}.$$

Replacing y by -y into (2.3), then we get

(2.4)
$$\frac{\widetilde{G}_{n+2,q}(x-y) - (n+2)(-1)^{n+1}y^{n+1}}{(n+2)(n+1)} = \sum_{k=0}^{n} \frac{\binom{n}{k}(-1)^{n-k}}{(k+2)(k+1)} \widetilde{G}_{k+2,q}(x)y^{n-k}.$$

By (2.4), it follows that

(2.5)
$$\sum_{k=0}^{n} \frac{\binom{n}{k} (-1)^{k}}{(k+2) (k+1)} \widetilde{G}_{k+2,q}(x) y^{n-k} = \frac{(-1)^{n} \widetilde{G}_{n+2,q}(x-y) + (n+2) y^{n+1}}{(n+1) (n+2)}.$$

Therefore, from the expressions of (2.3) and (2.5), we procure the following theorem:

THEOREM 2.3. The following holds true:

(2.6)
$$\sum_{k=0}^{\left[\frac{n}{2}\right]} \frac{\binom{n}{2k}}{(k+1)(2k+1)} \widetilde{G}_{2k+2,q}(x) y^{n-2k} = \frac{(-1)^n \widetilde{G}_{n+2,q}(x-y) + \widetilde{G}_{n+2,q}(x+y)}{(n+1)(n+2)}$$

where [.] is Gauss' symbol.

By (2.4), we have the following identity

(2.7)
$$\sum_{k=2}^{n} \frac{\binom{n}{k} (-1)^{k}}{k (k-1)} \widetilde{G}_{k,q} (x) y^{n-k} = \frac{(-1)^{n} \widetilde{G}_{n,q} (x-y) + ny^{n-1}}{n (n-1)}.$$

By (2.4), (2.5) and (2.7), then we have the following theorem:

Theorem 2.4. For $n \in \mathbb{N}^*$, we get

(2.8)
$$\frac{(-1)^{n} \widetilde{G}_{n+2,q} (x-y) + \widetilde{G}_{n+2,q} (x+y)}{(n+2) (n+1)} = \sum_{k=0}^{\left[\frac{n+1}{2}\right]} \frac{\binom{n}{2k}}{(k+1) (2k+1)} \widetilde{G}_{2k+2,q} (x) y^{n-2k}.$$

Taking y = 1 into (2.3), it follows that

(2.9)
$$q\sum_{k=0}^{n} \frac{\binom{n}{k}}{(k+2)(k+1)} \widetilde{G}_{k+2,q}(x) = \frac{q\widetilde{G}_{n+2,q}(x+1)}{(n+1)(n+2)} - \frac{q}{n+1}.$$

We need the following for sequel of this paper:

$$\sum_{n=0}^{\infty} \left(q \widetilde{G}_{n,q} \left(x+1 \right) + \widetilde{G}_{n,q} \left(x \right) \right) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left([2]_q \, x^n \right) \frac{t^{n+1}}{n!},$$

from the above, we easily develop the following:

(2.10)
$$q\widetilde{G}_{n+1,q}(x+1) + \widetilde{G}_{n+1,q}(x) = (n+1) [2]_q x^n.$$

By (2.9) and (2.10), we state the following theorem:

THEOREM 2.5. The following holds:

(2.11)
$$\sum_{k=0}^{n} \frac{\binom{n}{k}}{(k+2)(k+1)} \widetilde{G}_{k+2,q}(x) \\ = \frac{[2]_q x^{n+1}}{qn+q} - \frac{\widetilde{G}_{n+2,q}(x)}{(qn+q)(n+2)} - \frac{1}{qn+q}.$$

On account of the equality $\lim_{q\to 1} \widetilde{G}_{n,q}(x) = \widetilde{G}_{n,1}(x) := G_n(x)$, where $G_n(x)$ are known as Genocchi polynomials which are defined by means of the following exponential generating function:

$$\sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!} = \frac{2t}{e^t + 1} e^{xt} \ (|t| < \pi) \,,$$

(see [1-4, 12, 13, 21]). As an application, as $q \to 1$ in (2.11), we discover the following corollary:

COROLLARY 2.6. The following

$$\sum_{k=0}^{n} \frac{\binom{n}{k}}{(k+2)(k+1)} G_{k+2}(x)$$
$$= \frac{2x^{n+1}}{n+1} - \frac{G_{n+2}(x)}{(n+1)(n+2)} - \frac{1}{n+1}$$

is true.

Let us take y = 1 and $n \to 2n$ into (2.6), becomes

$$(2.12)$$

$$\sum_{k=0}^{n} \frac{\binom{2n}{2k}}{(k+1)(2k+1)} \widetilde{G}_{2k+2,q}(x)$$

$$= \frac{\widetilde{G}_{2n+2,q}(x-1) + \widetilde{G}_{2n+2,q}(x+1)}{(2n+1)(2n+2)}$$

$$= \frac{\frac{1}{q} \left(q \widetilde{G}_{2n+2,q}(x+1) + \widetilde{G}_{2n+2,q}(x) \right) + q \widetilde{G}_{2n+2,q}(x) + \widetilde{G}_{2n+2,q}(x-1)}{(2n+1)(2n+2)}$$

$$= \frac{\widetilde{G}_{2n+2,q}(x)}{q(2n+1)(2n+2)} - \frac{q \widetilde{G}_{2n+2,q}(x)}{(2n+1)(2n+2)}$$

$$= \frac{(n+2)[2]_q x^{n+1}}{(2n+1)(2n+2)} + \frac{(n+2)[2]_q (x-1)^{n+1}}{(2n+1)(2n+2)} - \frac{\widetilde{G}_{2n+2,q}(x)}{q(2n+1)(2n+2)}$$

$$- \frac{q \widetilde{G}_{2n+2,q}(x)}{(2n+1)(2n+2)}$$

After these applications, we conclude with the following theorem:

THEOREM 2.7. The following identity

(2.13)
$$\sum_{k=0}^{n} \frac{\binom{2n}{2k}}{(k+1)(2k+1)} \widetilde{G}_{2k+2,q}(x)$$
$$= \frac{(n+2)[2]_q x^{n+1}}{(2n+1)(2n+2)} + \frac{(n+2)[2]_q (x-1)^{n+1}}{(2n+1)(2n+2)}$$
$$-\frac{\widetilde{G}_{2n+2,q}(x)}{q(2n+1)(2n+2)} - \frac{q\widetilde{G}_{2n+2,q}(x)}{(2n+1)(2n+2)}$$

is true.

Now, we analyse as $q \to 1$ for the equation (2.13) and so we readily state the following corollary which seems to be interesting property for the Genocchi polynomials.

COROLLARY 2.8. The following equality holds:

(2.14)
$$\sum_{k=0}^{n} \frac{\binom{2n}{2k}}{(k+1)(2k+1)} G_{2k+2}(x)$$
$$= \frac{2(n+2)x^{n+1}}{(2n+1)(2n+2)} + \frac{2(n+2)(x-1)^{n+1}}{(2n+1)(2n+2)}$$
$$- \frac{G_{2n+2}(x)}{(2n+1)(2n+2)} - \frac{G_{2n+2}(x)}{(2n+1)(2n+2)}.$$

Substituting $n \to 2n + 1$ and y = 1 into (2.8), we compute

$$\begin{split} &\sum_{k=0}^{n} \frac{\binom{2n+1}{2k}}{(k+1)(2k+1)} \widetilde{G}_{2k+2,q}\left(x\right) \\ &= \frac{\widetilde{G}_{2n+3,q}\left(x+1\right) - \widetilde{G}_{2n+3,q}\left(x-1\right)}{(2n+3)(2n+2)} \\ &= \frac{\frac{1}{q} \left(q \widetilde{G}_{2n+3,q}\left(x+1\right) + \widetilde{G}_{2n+3,q}\left(x\right)\right) - \left(\widetilde{G}_{2n+3,q}\left(x\right) + \widetilde{G}_{2n+3,q}\left(x-1\right)\right)}{(2n+3)(2n+2)} \\ &+ \left(\frac{q-1}{q}\right) \frac{\widetilde{G}_{2n+3,q}\left(x\right)}{(2n+3)(2n+2)} \\ &= \frac{\left[2\right]_{q} x^{2n+2}}{(2n+3)(2n+2)} - \frac{\left[2\right]_{q} \left(x-1\right)^{2n+2}}{(2n+3)(2n+2)} + \left(\frac{q-1}{q}\right) \frac{\widetilde{G}_{2n+3,q}\left(x\right)}{(2n+3)(2n+2)} \end{split}$$

$$\frac{1}{q(2n+2)} - \frac{1}{(2n+2)} + \left(\frac{1}{q}\right) \frac{1}{(2n+3)(2n+2)}$$

Therefore, we obtain the following theorem:

THEOREM 2.9. The following equality holds:

$$\sum_{k=0}^{n} \frac{\binom{2n+1}{2k}}{(k+1)(2k+1)} \widetilde{G}_{2k+2,q}(x)$$

= $\frac{[2]_q x^{2n+2}}{q(2n+2)} - \frac{[2]_q (x-1)^{2n+2}}{(2n+2)} + \left(\frac{q-1}{q}\right) \frac{\widetilde{G}_{2n+3,q}(x)}{(2n+3)(2n+2)}.$

As $q \to 1$ in the above theorem, then we easily derive the following corollary:

COROLLARY 2.10. For $n \in \mathbb{N}^*$, then we have

$$\sum_{k=0}^{n} \frac{\binom{2n+1}{2k}}{(k+1)(2k+1)} G_{2k+2,q}\left(x\right) = \frac{2x^{2n+2}}{(2n+2)} - \frac{2(x-1)^{2n+2}}{(2n+2)}.$$

239

3. Further remarks

In this final part, we remember the definition of the generating function of the q-Genocchi polynomials, as follows:

(3.1)
$$\mathcal{F}_q(x,t) = \frac{[2]_q t}{qe^t + 1} e^{xt} = \sum_{n=0}^{\infty} \widetilde{G}_{n,q}(x) \frac{t^n}{n!}.$$

Applying k-th derivative to (3.1), then we attain the following

(3.2)
$$\frac{d^k}{dt^k} \left(\frac{[2]_q t}{qe^t + 1} e^{xt} \right) = \frac{d^k}{dt^k} \left(\sum_{n=0}^{\infty} \widetilde{G}_{n,q} \left(x \right) \frac{t^n}{n!} \right).$$

Taking $\lim_{t\to 0}$ on the both sides in (3.2), then we arrive at the following theorem:

THEOREM 3.1. The following equality

(3.3)
$$\widetilde{G}_{k,q}\left(x\right) = \lim_{t \to 0} \left[\frac{d^{k}}{dt^{k}} \left(\frac{[2]_{q}t}{qe^{t}+1}e^{xt}\right)\right]$$

is true.

We now consider Cauchy-type integral formula of the q-Genocchi polynomials which is a vital and important in complex analysis, is an important statement about line integrals for holomorphic functions in the complex plane. So, by using equation of (3.3), we can develop the following theorem:

THEOREM 3.2. The following Cauchy-type integral holds true:

$$\widetilde{G}_{n,q}\left(x\right) = \frac{n!}{2\pi i} \int_{C} \mathcal{F}_{q}\left(x,t\right) \frac{dt}{t^{n+1}}$$

where C is a loop which starts at $-\infty$, encircles the origin once in the positive direction, and the returns $-\infty$.

Distribution formula for the special polynomials is important to study regarding *p*-adic Measure theory. That is,

$$\begin{split} \int_{\mathbb{Z}_p} (x+y)^n \, d\mu_{-q} \, (y) &= \lim_{n \to \infty} \frac{1}{[dp^n]_{-q}} \sum_{\xi=0}^{dp^n-1} (-1)^{\xi} \, (x+\xi)^n \, q^{\xi} \\ &= \frac{d^n}{[d]_{-q}} \sum_{a=0}^{d-1} (-1)^a \, q^a \left(\lim_{n \to \infty} \frac{1}{[p^n]_{-q^d}} \sum_{\xi=0}^{p^n-1} (-1)^{\xi} \left(\frac{x+a}{d} + \xi \right)^n q^{d\xi} \right) \\ &= \frac{d^n}{[d]_{-q}} \sum_{a=0}^{d-1} (-1)^a \, q^a \frac{\widetilde{G}_{n+1,q} \left(\frac{x+a}{d} \right)}{n+1}. \end{split}$$

As a result, we obtain the following theorem.

THEOREM 3.3. For $n \in \mathbb{N}^*$, then we have

$$[d]_{-q} \widetilde{G}_{n,q} (dx) = d^{n-1} \sum_{a=0}^{d-1} (-1)^a q^a \widetilde{G}_{n,q} \left(x + \frac{a}{d} \right).$$

By using definition of the geometric series in (3.1), we easily see that

$$\sum_{m=0}^{\infty} \widetilde{G}_{m,q}(x) \frac{t^m}{m!} = \sum_{m=0}^{\infty} \left([2]_q (m+1) \sum_{n=0}^{\infty} (-1)^n q^n n^m \right) \frac{t^{m+1}}{(m+1)!},$$

by comparing the coefficients on the both sides, then we have, for $m\in\mathbb{N}$

(3.4)
$$\frac{\widetilde{G}_{m+1,q}(x)}{m+1} = [2]_q \sum_{n=1}^{\infty} (-1)^n q^n n^m.$$

By (3.4), we define q-Zeta-type function as follows: For $s \in \mathbb{C}$ and $\Re e\left(s\right) > 1$,

(3.5)
$$\widetilde{\zeta}(s,x:q) = [2]_q \sum_{n=1}^{\infty} \frac{(-1)^n q^n}{n^s}.$$

As $q \to 1$ in (3.5), it leads to the following

$$\lim_{q \to 1} \widetilde{\zeta} \left(s, x : q \right) = \widetilde{\zeta} \left(s, x : 1 \right) := \zeta \left(s, x \right) = 2 \sum_{n=1}^{\infty} \frac{\left(-1 \right)^n}{n^s}$$

which is well-known Euler-Zeta function (see [7]). By (3.4) and (3.5), we get

$$\widetilde{\zeta}(-n,x:q) = \frac{G_{n+1,q}(x)}{n+1}.$$

References

- [1] S. Araci, D. Erdal, and J. J. Seo, A study on the fermionic *p*-adic *q*-integral representation on \mathbb{Z}_p associated with weighted *q*-Bernstein and *q*-Genocchi polynomials, *Abstract and Applied Analysis*, **2011** (2011), Article ID 649248, 10 pages.
- [2] S. Araci, J. J. Seo, and D. Erdal, New Construction weighted (h,q)-Genocchi numbers and polynomials related to Zeta type function, *Discrete Dynamics in Nature and Society*, **2011** (2011), Article ID 487490, 7 pages.
- [3] S. Araci, M. Acikgoz, and Feng Qi, On the q-Genocchi numbers and polynomials with weight zero and their applications, Available at http://arxiv.org/abs/1202.2643
- [4] S. Araci, Novel Identities for q-Genocchi Numbers and Polynomials, Journal of Function Spaces and Applications 2012 (2012), Article ID 214961, 13 pages.
- [5] S. Araci, M. Acikgoz and J. J. Seo, Explicit formulas involving q-Euler numbers and polynomials, Abstract and Applied Analysis 2012 (2012), Article ID 298531, 11 pages (Article in press).
- [6] Y. He and C. Wang, Some Formulae of Products of the Apostol-Bernoulli and Apostol-Euler Polynomials, *Discrete Dynamics in Nature and Society* 2012 (2012), Article ID 927953, 11 pages.
- [7] T. Kim, Euler numbers and polynomials associated with Euler Zeta functions, Abstract and Applied Analysis 2008 (2008), Article ID 581582, 11 pages.
- [8] T. Kim and S.-H. Lee, Some Properties on the q-Euler Numbers and Polynomials, Abstract and Applied Analysis 2012 (2012), Article ID 284826, 9 pages, 2012.
- [9] D. Kim, T. Kim, S. -H. Lee, D. V. Dolgy, S.-H. Rim, Some new identities on the Bernoulli numbers and polynomials, *Discrete Dynamics in Nature and Society* 2011 (2011), Article ID 856132, 11 pages.
- [10] T. Kim, J. Choi, and Y. H. Kim, Some identities on the q-Bernoulli numbers and polynomials with weight 0, Abstract And Applied Analysis 2011 (2011), Article ID 361484, 8 pages.
- [11] T. Kim, On a q-analogue of the p-adic log gamma functions related integrals, J. Number Theory 76 (1999) no. 2, 320-329.
- [12] T. Kim, and J. Choi, On the q-Euler numbers and polynomials with weight 0, Abstract and Applied Analysis 2012 (2012), Article ID 795304, 7 pages..
- [13] T. Kim, On the q-extension of Euler and Genocchi numbers, J. Math. Anal. Appl. 326 (2007), 1458-1465.
- [14] T. Kim, On the multiple q-Genocchi and Euler numbers, Russian J. Math. Phys. 15 (2008), no. 4, 481-486.
- [15] T. Kim, On the weighted q-Bernoulli numbers and polynomials, Advanced Studies in Contemporary Mathematics 21 (2011), no. 2, 207-215.
- [16] T. Kim, q-Volkenborn integration, Russ. J. Math. phys. 9 (2002), 288-299.
- [17] T. Kim, q-Euler numbers and polynomials associated with p-adic q-integrals, J. Nonlinear Math. Phys. 14 (2007), no. 1, 15–27.
- [18] T. Kim, New approach to q-Euler polynomials of higher order, Russ. J. Math. Phys. 17 (2010), no. 2, 218–225.

- [19] T. Kim, Some identities on the q-Euler polynomials of higher order and q-Stirling numbers by the fermionic p-adic integral on \mathbb{Z}_p , Russ. J. Math. Phys. **16** (2009), no. 4, 484–491.
- [20] D. Kim, T. Kim, J. Choi, and Y. H. Kim, Identities involving q-Bernoulli and q-Euler numbers, Abstract and Applied Analysis 2012 (2012), Article ID 674210, 10 pages.
- [21] C. S. Ryoo, A note on the weighted q-Euler numbers and polynomials, Advan. Stud. Contemp. Math. 21 (2011), 47-54.
- [22] I. N. Cangul, V. Kurt, H. Ozden, and Y. Simsek, On the higher-order w-qgenocchi numbers, Advanced Studies in Contemporary Mathematics 19 (2009), no. 1, 39–57.
- [23] M. Acikgoz, S. Araci and I. N. Cangul, A note on the modified q-Bernstein polynomials for functions of several variables and their reflections on q-Volkenborn integration, Applied Mathematics and Computation 218 (2011), no. 3, 707–712.

*

Department of Applied Mathematics Pukyong National University Busan 608-737, Republic of Korea *E-mail*: seo2011@pknu.ac.kr